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Instructions : (1) All questions are compulsory.
(2) Illustrate your answers with neat sketches wherever necessary.
(3) Figures to the right indicate full marks.
(4) Assume suitable data, if necessary.
(5) Use of Non-programmable Electronic Pocket Calculator is
permissible.
(6) Mobile Phone, Pager and any other Electronic Communication
devices are not permissible in Examination Hall.
Marks
1. Attempt any five: 20
a Definecogting. Stateitsobjectives.
b) Why overhead costsareto be controlled ? Explain.
€) What arethevariouscausesof depreciation ?
d) Writetheimportance and useof estimating.
€) How machinetimeiscalculated for turning operation ?
f) What arethefactorsaffectingwelding costsand welding cost estimation ?
0 Whatis'blank layouts in sheet metal shop ?Explain.
h) Definewagesandincentive.

2. Attemptany two: 16
a) Cdculatevolumeof material for funnel showninFigureNo. 1 taking 150 mmand 15mmas

the mean diameters of the top and bottom ringsrespectively. Consider thethicknessof MS
sheet tobe2 mm.
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Marks
b) Explainthestepsin estimation of erection costs.

¢) Cdculatethenumber of rivetsof dimensonsshownin FigureNo. 2, which can bemanufactured
from4 kg of MS.Assumethat thereisno wastage of material. Density of M.S. is8 gm/cc.
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Figure No. 2

3. Attemptany two: 16
a i) What arethecharacteristicsof process cost accounting ?
ii) Explainjoborder and processorder costing.
b) i) Howtocaculatesdling priceof aproduct ?
if)  Distinguish between cogting and estimating.
C) Listthemethodsof evaluating materialsissued from stores. Explain any onemethod.

4. Attemptany two: 16

a) Theedstimated life of alatheis 10 yearsand itsworks 16 hoursaday. Theinitial cost of lathe
iISRs1.00lac.and scrap valueafter 10 yearsisRs. 25,000/-. If the machine worksfor 5840 hours
inayear. Cdculatetherateof depreciation charged annualy asper machine hour basismethod.

b) Explaninbrief:

) Qualitiesrequired by estimator
i) Estimating procedure.
¢) Findthetimerequired for doing rough grinding of a160 mm long steel shaft to reduceits

diameter from 42to 40 mmin agrinding wheel of 20 mm face width. Assume cutting speed
as 16.5 m/min and depth of cut as0.25 mm.
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5. Attemptany two: 16
a Findthewelding material cost for making arectangular framefor agateof 2mx 1 mframe
angleiron of size30 mmx 30 mmx 5 mm.Assume:
) Oxygen consumption 0.4 m3/hr @ Rs. 20/ md,
i) Acetyleneconsumption 0.4m3/ hr @ Rs. 100/ md,
iif) Welding speed 4 m/ hr.
iv) Lengthof filter rod of dia. 2.5m=3.4m/mwelding.

v) Filter rod material cost =Rs. 25/ kg.
vi) Weldingisto bedoneon both sides.

b) A pressmaking 60 strokes per minuteisused for making 30 blanksof 100 mmx 170 mmsize
from each strip. Calculatethetimerequired for blanking each strip if only 60% of the stokes
areutilized. If notesareal so pierced on thispress. Find out the total timefor blanking and
piercing for 200 components.

C) i) What ismaterial costing ?Which arethe expensesincluded inthe cost of material ?
i) Draw ablock diagramtoillustrate therelation between * el ements of cost and components
of cost’.
6. Attemptany four 16
a) Differentiate between depreciation and obsolescence.
b) Explandifferentforginglosses.
€) How machiningtimefor milling operationisdetermined ?
d) Enlistthenamesand draw different typesof weldedjoints.
€) Explainestimation procedure usedin sheet metal work.
f) Explainjobcost shest.







